usn| | [ [ [ ][] ]

Internal Assessment Test — I JULY 2023

Sub:

Complex Analysis, Probability and Linear Programming Code:

21MATMEA41

Date:

04-07-2023 Duration: {90 mins Max 50 Sem: |IV | Branch:
Marks:

ME

Question 1 is compulsory and Answer any 6 from the remaining questions.

OBE

Mars &g RBT

kx?, 0<x<3
0, otherwise
function. Also, compute i) P(1 <x <2) ii) P(x <1) iii) P(x > 1) iv) Mean
v) Variance.

Find the constant k such that f(x) ={ is a probability density

[08] | co3 L

W

A random variable X has the following probability function:

x 0|1 2 3 4 5 6 7

P(x) | 0| k| 2k | 2k | 3k | k2 | 2k% | 7Kk® + k

Find i) the value of k ii) P(x < 6) iii) P(x = 6) 1iv) P(3 < x < 6). Also find the
probability distribution.

[07] | co3 L3

The probability that a pen manufactured by a company be defective is 11—0. If 12 such|

pens are manufactured, what is the probability that
i) exactly 2 are defective ii) at least 2 are defective iii) none of them are defective.

[071 | co3 L3

2% of the fuses manufactured by a firm are found to be defective. Find the probability|
that a box containing 200 fuses contain,
i) no defective fuses 1ii) 3 or more defective fuses iii) at least one defective fuses.

[07] | co3 L3

Out of 800 families with 5 children each, how many families would you expect to have
i) 3 boys ii) 5 girls iii) either 2 or 3 boys iv) at most 2 girls.

[071 | co3 L3

If x is the normal variate with mean 30 and standard deviation 5. Find the probabilities
thati) 26 < x <40 ii)x =45 iii) 25 < x < 35.
Given that $(1) = 0.3413, $(0.8) = 0.2881, $p(2) = 0.4772,$(3) = 0.4987.

[07] | co3 L3

The length of telephone conversation in a booth has been an exponential distribution|
and found on an average to be 5 minutes. Find the probability that a random call made
from this booth 1) ends less than 5 minutes ii) between 5 and 10 minutes.

[07] | co3 L3

The marks of 100 students in an examination follows a normal distribution with mean
70 and standard deviation 5. Find the number of students whose marks will be

i) less than 65 1ii) more than 75 iii) 65 to 75.

(071 | co3 L3
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